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* LEFT TURN=90° LEFT

* RIGHT TURN=90°RIGHT

* DIFFERENCE BETWEEN TWO DIRECTION=90°

* DIFFERENCE BETWEEN TWO SUB-DIRECTION=90°

* DIFFERENCE BETWEEN DIRECTION TO SUB-DIRECTION=90°

* FOR SHORTEST DISTANCE WE ALWAYS USE PYTHAGORAS THEOREM




® A drives 45 kms towaras East , turns right and drives 65
kms , then turns left and drives 33 kms . In which
direction 1s he facing now?
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A.East/qd

B.West /UTRIc

C.North/3dY
D.South /& T&IoT




* A man walks 15 metre south . Then turning to his right he walks 15
metres . Then turning to his left , he walks 10 metres . Again turns to

his left and walks 15 metres . How far 1s he from his initial position ?
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* Shobha was facing east. She walks 20 metres. After
taking a left turn she walks 15 metres, then after
taking a right turn she walks 25 metres. Finally she
turns to her right and walks 15 meters more. How
far is he from his starting point?
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* [ am standing facing east. I turn 100° clockwise and then
145° 1n anti-clockwise. In which direction am I facing now?
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A. East/gd

B. North-east/3d- EEff

C. North/3<dY
D. South—west/m-m




One morning after sunrise , Gopal was facing a pole . The
shadow of the pole fell exactly to his right . Which direction
was he facing ?
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A. South
B. East
C. West

D. Data inadequate




Raman and Krishnan start moving towards each other from points A and B, 200
meters away from each other. After walking 60 metres, Krishnan turns left and walks
20 metres, then he turns right and walks 40 metres. He again takes a right turn and
comes back to the path from where he started. Raman did not turn anywhere while
walking. If Raman and Krishnan walk at the same speed, then what 1s the distance
between them now?(UPSI 2017-18)
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A.40
B. 30
C. 20
D.50




' Shivam 1s facing south , then he turns 135 ° clockwise , then 90 °
ant1 - clockwise , then 180 ° clockwise , then 135 © 1n anti1 -

clockwise and finally again 1t rotates 45 © 1n ant1 - clockwise
direction , then in which direction is Shivam facing now ?(SSC

CHSL2021)
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* Amit started walking positioning his back towards the sun. After
some time, he turned left, then turned right and towards the left
again. In which direction 1s he going now?
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A. North or South
B. East or West

C. North or West
D. South or West




* Village Q 1s to the North of the village P. The village R 1s 1n the
East of Village Q. The village S 1s to the left of the village P. In
which direction 1s the village S with respect to village R?
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A. Wesk,
B. South-West
C. South

D. North-west




* Starting from the point X, Jayant walked 15 m towards west. He turned left and
walked 20 m. He then turned left and walked 15 m. After this he turned to his
right and walked 12 m. How far and in which directions 1s now Jayant from X?
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A. 3* éouth

B. 47 m East
C. 42 m North
D. 27 m South



® Ganesha cycles in the direction of the sun in the evening. After a
while, he turns left and then turns right. After a while, he again turns
right. In which direction is he standing now?
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C. North

D. East




® Jagan starts from his house and walks 9 km towards South-East and then
he turns 90° to his left and walks 12 km. After walking one reaches the
temple. What will be the shortest distance from this temple to his house?
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